Test 21

6)

10)

11)

12)

14)

15)

B Substitute (0, 0)

A 2Y=4X+3 —>Y=2X+-g— (same slope)

D Slope would be -4

C Slope will be 2

(-2)=2(2)+b
2=4+b
6=b Y=2X-6

B Slope will be —%

P (— %)(2) +b

-2=-1+b
= —_Ix_
-1=b Y= 2X 1
D Substitute (0,0) 0>2(0)-3
0> -3 true

> sign indicates dotted line

C Same as above, but > indicates solid line

0<2(0)-3
0 < -3 false
< sign indicates dotted line

(¢} X4 - 1factors to (X2 - 1)(X2 +1), ]

x4 —9+(x2 -1 =x2 +1

D By definition supplementary angles add to

180°. They may or may not be congruent.

B 34-2/+1-2B-6)? =

3|g|+ 1= 2(-37 =
36) +1-2(9) =
18+1-18 =1

Test 22

1) A

2) C

3) B

4) A

5 D

10) C

11) B

12) D

(X1+X2 Y1+Y2)
2 ' 2

A=(2,1) C=(3,2)

D= [3- (2P +(@- 1?2
D=+25+1=+26
B=(-1,5) C=(3,2
D=3- ()P +@-57?

D=+16+9 =425 =5

A=(2,1) D=(1,-2)

- ,/[4—(—2)]2 212
=J1+9=410

D
D
B=(-1,5) D=(1,-2)
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192.5em 4 1ft
TR TR" 6.4 ft (rounded)

82 +10% =H?
64 +100 =H?
Ji64 =H
JA A =H
2\/4_=H
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10)

11)

12)

13)

14)

15)

Completing the square
(X2 —ex +9) + (Y2 +10Y +25) =18 +9+25
X-32 +(Y+5)° =16
X-3)2 +(Y +5)2 =42

Equal coefficients, so a circle
center at (-3, -3)
Unequal coefficients, so an ellipse

Checking (0, 3) — 9(0)% +4(3)? =36
0+36=36 (true)

Checking all four

A) -32:3+6= B) (3)2:3+5=
9+3+6=3 9+3+5=8

C) -(8)2+3+5= D) (-8)2+3+4=
-9+3+5=2 9+3+4=7

2,6 y1_

Sy X = (X #0)

23X) , 600 18X) _

X3X) T 3X00 T X@X)
6X +6X-3X 9X 3

ax? ax?

Dpav =Dpan
RpavTbav =RbanTban
4Tpay = 6(TDav —1)
4Tpay =6Tpay -6

6 =2Tpay

3 = Tpav (4)(3) =12 miles

Area of original rectangle = XY
Area of new rectangle = (3X)(3Y) = 9Y

Test 24

1) A

2) A

10) B

1) B

15) A

The equation of a parabola always has one
term squared

Coefficient of X term is positive, X is
squared term

Coefficient of Y term is negative, Y is
squared term

Coefficient of squared term has the
largest absolute value

IfY=(0)?2+2 then Y =2

Y intercept is 1, graph opens up and is
moderately narrow

X intercept is -2, graph opens to the left
and is wide

Y intercept is 1, graph opens down and is
wide

X intercept is 1, graph opens to the right
and is of average width

Y intercept is -1, graph opens up and is
of average width

The point naming the vertex is always the
middle of the three points naming an angle

44 km
7]

R1T1 = D1 D1 +D2 =44
RoTo =Do Ti+To=6
RiT{+RsTo =44 To=6-Tq

4T+ 9(6 - T1) =44

4T1+54-9T1=44

-5T1+54=44
-5T1=-10

Ti=2 To=6-2=4 hrs

2X+1)+2(83X)=2X+2+6X=8X+2
2[3XX + 1] +2[8X00] + 2[X (X + D] =

2(ax® +3x) +2(3x2) + 2(x2 +x) =
6X2 +6X +6XZ +2X2 + 2X =14X2 +8X

OB +1) = 3X2 X+ =33 +3%2
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